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Time allowed : 3 hours Maximum Marks : 80

fgiRa 979 @ 3 gue SAfYRay 3k 80

General Instructions:

(i) All questions are compulsory.

(i)  The question paper consists of 34 questions divided into four sections A,B,C and D.
Section A comprises of 10 questions of 1 mark each, section B comprises of 8
questions of 2 marks each, section C comprises of 10 questions of 3 marks each and
section D comprises 6 questions of 4 marks each.

(iii)  Question numbers 1 to 10 in section A are multiple choice questions where you are
to select one correct option out of the given four.

(iv)  There is no overall choice. However, internal choice have been provided in 1
question of two marks, 3 questions of three marks each and 2 questions of four
marks each. You have to attempt only one of the alternatives in all such questions.

(v) Use of calculator is not permitted.

= A

(i) ) gz rfar |

(i) sT U o H 34 g ¢ 2 aR @vsl &1, 9, 9§ T € ¥ dicl T 2| @Us — 31 § 10 U &
R I® 1 i FT 8, WIS — 9 H 8 Ued & RT9H UAS & 2 3P &, @S — I H 10 U &
R4 ISP & 3 3% 8 TAT WUS — T H 6 U & N8 UAD & 4 3d B |

(iii) @S o # Ued W=AT 1 ¥ 10 dF dg[APHAT U & ofgl AP IR [Awedi § 9 v |al fadwey
AT % |

(iv) S99 ued o= # &3 W 9auR fAwed 781 8, ofe alRe® fdwed 2 fdl & Th U #, 3 3fdl & 3
gel § 3R 4 3Pl & 2 gl # Ay MU & | UAS UeH H D fAded BT 9aT o |

(v)  SdAgeeR BT JIRT afiid 2 |

Section-A

Question numbers 1 to 10 carry one mark each. For each questions, four alternative
choices have been provided of which only one is correct. You have to select the
correct choice.
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1.  The decimal expansion of 7 is : —
|@ 111yCBSEguide.com
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(A) terminating
(B) non-terminating and non-recurring

(C) non-terminating and recurring

(D) doesn’t exist

r %1 SYHTE TAR € :
(A) i

(B) 3T SR STt
(C) oTHid iR syl
(D) foremm =&

2. If (x+1) is a factor of 2x3+ax?+2bx+1, then find the values of a and b given that
2a—3b=4.

IS (x +1) FGIR 223 + ax2 + 2bx + 1 1 Tk UHETE ¥ Al a A1 b F WM FIA IS STelfeh 2a —3b=4
2

3. Inthe given figure, value of x (in cm) is :

T A H x®AA (em H) T

(A) 4 B) 5 © 6 D) 8
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7.

If sin ® = cos 6, then value of O is :

(A) 0° (B) 45° (Q) 30°
Ifqsin g = cose'bpf@feﬁh‘[m%:

(A)  0° (B)  45° (€ 30°

4sin 6—3 cos 6 .
is:

If 3 cosh =2sin6, then the value of
2sin 0 + 6¢cos 0

1 1 1
A) = B - C =
@) 3 ® 3 ©
1S 3 cosh =2 sind %\”, ar 4 sin §—3 cos 0 FHAAT :
2sin 0 + 6cos 0
1 1 1
A) = B) = c) =
®) ORI ©
If cos (40°+ A) =sin 30°, the value of A is :
(A) 30° (B) 40° <G e0°
IS cos (40°+A)=sin 30°%, T AR TH T :
(A) 30° (B) 40° <©  e0°

(D)

(D)

90°

90°

|@ 111yCBSEguide.com
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[INQU SR

| =

20°

20°

Which of the following rational numbers have a terminating decimal expansion ?

125 77 15
(A) L (B) 210 ©) 1600
S |t 9T e gid <eerd | ?

(D)

129
22 x 52 x 72
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125 77 15 129

A g ® o5 ©  Teo O a2
(8BS Egide com
8 The pair of linear equations 2x —3y =1 and 3x —2y =4 have :
(A) One solution (B) Two solutions
(©) No solution (D)  Many solutions
g et g 2x—-3y=1 3ﬁ'{3x—2y=4€5€?’l% :
(A) o Th B (B) dEA
(C) T B e | (D) &% &
- If cosech —cotf = %, the value of (cosec + cotf) is :
A 1 (B) 2 < 3 (D) 4
¢ cosech — coth = % I (cosech + cotd) T HH g
(A 1 B) 2 © 3 (D) 4
10. The mean of the following data is :
45, 35, 20, 30, 15, 25, 40
(A) 15 (B) 25 (©) 35 (D) 30
=1 3tiehel o1 H1eA BT
45, 35, 20, 30, 15, 25, 40
(A) 15 (B) 25 (© 35 (D) 30

Section-B

Question numbers 11 to 18 carry two marks each.
11. Find the LCM and HCF of 120 and 144 by using fundamental theorem of Arithmetic.

120 3R 144 T LCM IR HCF ${hT0Id i STURYA THI R F1d hifoT |

12. If 2 and —3 are the zeroes of the quadratic polynomial x2+ (a+ 1) x + b; then find the values of a
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and b.
Ife 2 T —3 T fEEA TGS a2+ (a+1) x +b, o YAF &l a A1 b & HH T HITSC |
By BBy com
13. Solve :99x+101y =499
101x + 99y =501
& WhITSTT : 99x + 101y =499

101x + 99y =501

14. tan260° + 4sinZ45° + 3sec230° + 5c0s290°

Evaluate : 5
cosec30° + sec60° — cot~30°

2 no : 2 1o 2 Ao 2 one
tan“60° + 4sin“45° + 3sec” 30 2+ 5c0s“90 Wﬂﬂﬂﬁﬂﬂﬁl"{l
cosec30° + sec60° — cot”30°

OR / 3teran

Without using trigonometric tables prove that :
tan 1° tan 11° tan 21° tan 69° tan 79° tan 89°=1

Preptofirdte wrfvrEl & gam fed fom fag wifse fa

tan 1° tan 11° tan 21° tan 69° tan 79° tan 89°=1

15. If one diagonal of a trapezium divides the other diagonal in the ratio 1 : 3. Prove that one of the
parallel sides is three times the other.

Teh AT 1 Tk TR0 Toh R 1 1: 3 o TU H Ufdesg w8, dl fag ST it g9t Th
TR I S HHIGR ST i 4 AT SR |

16. The diagonals of a trapezium ABCD in which AD|/BC intersect at O and BC=2AD. Find the
ratio of the areas of AAOD to ABOC .

T 9@s ABCD 94 AD||BC 8, & faertt fag O W &led € 9eMBC=2AD ¥ 13 AOD den
1S BOC % &%l 1 3191 A1 it |

17. The following distribution gives the daily income of 55 workers of a factory. Write this
distribution as less than type cumulative frequency distribution :
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Daily income 100—-120 120 —140 140—-160 160 —180 180 —200
(inRs.)

No. of 13 15 9 7 11
workers i —

1 527 U Tl & 55 FIERI i S A ST € | T T W FA AR TER A G
FRARAT de & €9 H fafau |

1R 3 (%) | 100-120 120 - 140 140 - 160 160 - 180 180 - 200

TR k! TE&AT 13 15 9 7 11

18.  Find the mode of the following data

Class 50—60 60—70 70—80 80—90 90—100
Frequency 9 12 20 11 10
frfafea siwe & agae aa it

i 50-60 60—70 70—80 80—90 90—100
ARSI 9 12 20 11 10

Section-C (@UE -9)

Questions numbers 19 to 28 carry three marks each.

19. Show that any positive odd integer is of the form 4q + 1 or 4q + 3 where q is a positive

integer.

quiee fo forelt smTeres forom quifer o1 &7 4q + 1 A4q + 3 T 81 & SRl q T S oiieh 2 |

20. prove that \/E is irrational.

fag s fr 5 T Tufde ge g

OR / 31ere
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243 ... o )
Prove that T\/_ is irrational. l@myCBSE@ur{acom
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fe@ﬁﬁq%s? Toh 3T & g

21. The sum of the numerator and denominator of a fraction is 12. If 1 is added to both the

numerator and the denominator the fraction becomes % . Find the fraction.

form el o o791 o7 Tt o1 g 12 § 1 afE fer & oiwr iR R Hl o 1 Sire fean sme @t fim % RISIG|
T @ fomr 3 s

OR / 3era
4 men and 6 boys can finish a piece of work in 5 days while 3 men and 4 boys can finish it in 7
days. Find the time taken by 1 man alone or that by 1 boy alone.

4 3TEHT 3IR 6 TSk THETRL Tk M &1 5 Al § qU H § Safeh 3 2TSH 7R 4 Tk et dt
i o1 7 ol # QU €1 TRt 1 STIRHT BT 197 $Thcl 1 TSk BT 39 oh1H hl I i &l T7A
A RIS |

22. Find the zeroes of the quadratic polynomial x2+5x+ 6 and verify the relationship between the zeroes
and the coefficients.

f5oT FEUT X2 + 5x + 6 % IAh A HA TAT ATk F TN & S o Telel i G I S BT |

If sin (A —B)= = and cos (A +B)

% % 0<(A+B)<90°, A>B, find A and B.

(< sin (A—B)=% RRINY (A+B)=%,O<(A+B) <90°, A >B,dl AT B % HAM 1T HIIC |

24. Prove that (cosecA — sinA) (secA — cosA) = 1
tanA + cotA
W 1
fag cosecA —sinA) (secA —cosA) = ———
( inA) | ) tanA + cotA
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25.

26.

27.

A .

o e
C
£ P
y
Z
B D
Q
In figure ABJ||PQ]||CD, AB =x units, CD =y units and PQ =z units, prove that,
Xy oz
A
C
£ P
y
Z
B D

Q
3Tefd § AB|[PQ||CD ®, AB = x $%[E,CD =y ST a1 PQ =z IFE &, 1 fas wifve f:

1y
X

N

1
y

Equilateral triangles APB, BQC and ASC are described on each side of a right-angled
triangle ABC, right angled at B. Then prove that ar(AAPB) + ar(ABQC) = ar(AASC).

T USRI Tt ABC f598 /B HahIvT B, fof oJoiedi W Tmang s APB, BQC @2 ASC
I T2 | g FIST foh 9% (AAPB) + &% (ABQC) = &5%d (AASC) T |

If the mode of the following frequency distribution is 31, then find the value of p.

Classes 5-15 15-25 25-35 35 -45 45 - 55

Frequency f 3 p 15 11 6
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afe frefafad sReRd s o1 9gas® 31 81, A p 1 91 I RIS : D
W CEsEide

15-25

25 -35

35 -45

45 - 55

SRS f

15

11

OR / 312

Calculate the mean marks of the following data using the step deviation method :

Marks

25—35

35—45

45—-55

55—-65

65—75

No. of
students

6

10

8

12

o forerer fafer 61 wam a1 SffeRel 1 A i ufihfera i |

SIED

25-35

35—45

45-55

55—65

65—75

foremter=i =1
&

10

12

28. The median of the distribution given below is 14.4. Find the values of x and y, If the sum of

29.

frequency is 20.
Class interval | 0-6 6-12 12-18 15-24 | 2430
Frequency 4 X ) 1 1
1 IRERAT sie 1 ATeA 14.4 T1 x Ty K1 A G HITSTT A SRERAT 6T 41720 2|
] A=A -5 B-12 12-15 158-24 24-30
ARATAT 4 x 5 Yy 1
Section-D

Questions numbers 29 to 34 carry four marks each.

Obtain all other zeroes of the polynomial x* —3x3 —x2+9x — 6, if two of it's zeroes are NG

and —\/g .

TGIR x4 — 323 — 22+ 9x — 6, % Tl IR HAW: /3 TA —/3 T1 g & 374 T+ft I=F T

FifTT |
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30. If two scalene triangles are equiangular, prove that the ratio of the corresponding sides is
same as the ratio of the corresponding angle bisector segments.

e <1 favmeng st gmeson € a1 fag wifse fh 9 ensti | 1 9 il &
FufgarSishl | STU & SRR T i@myCBSEmum com
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OR / 3teran

In an equilateral triangle ABC, D is a point on side BC such that 4BD =BC. Prove that
16AD?=13BC?.

Teh Uag s ABC i s BC W foig D 39 ¥R € T 4BD =BC. fag i f&
16AD2=13BC2.

31.  [f tan0® + sind =m and tan® — sin =n, show that m2—n2=4 mn

IfE tand + sinf =m & T tand — sinf=n, &, T <M fF m2—n2=4 Vmn &1

OR / 31erar

= 2cosec

Prove that \/1+cosﬁ + \/1—COSO

1—cos6 14+ cos6

95 =ifee fo 1+ cosb \/1—cos@ = 2cosec

1—cos6 14+ cos6
32. Determine the value of x such that
2 cosec?30° + x sin2 60° — % tan230° = 10
x 1 98 O fuifRa swifse, fsoa

2 cosec?30° + x sin? 60° — % tan230° = 10 B

33. Draw the graphs of the following equations: x + y =5, x —y =5
(i)  Find the solution of the equations from the graph.

(i)  Shade the triangular region formed by the lines and the y —axis

fre weftereor el R TTwE iRl :x + y =5, x —y =5
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(i) U SR FHIHIU T A 1 HISC |
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(i) @S 3Ry -3787 < o= 9 FAYSTRR &5 1 S FHIf |

Draw a less than type ogive of the following distribution :

Marks 0—10 | 10—20 | 20—30 | 30—40 | 40-50 | 50—60
No. of 5 4 8 10 15 18
students

Find median from graph.

7 5T 9 U ‘R & YRR hT aR0T GifEU | UT% 9 Hieges Wt 0 Shifeid |

3 : 0—10 | 10—20 | 20—30 | 30—40 | 40—50 | 50—60
forenfef=i =t 5 4 8 10 15 18
e ;
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